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2M: SAID
BE: CANS(RELXANL/KALETAI
Chels AR EEETEEY
A - 3 - SR(ZH) - MRANY - BES Oll &+t JIEN HwE2
AT 13,826,306 9,051,434 4,774,872
2 2,135,000 2,135,000 0
= 680,000 680,000 0
x 350,000 0 350,000
Al 10,661,306 6,236,434 4,424,872
TADHEZ (REUTIH/ KU A 13,428,318 8,672,059 4,756,259
2 2,135,000 2,135,000 0
= 680,000 680,000 0
= 350,000 0 350,000
Al 10,263,318 5,857,059 4,406,259
SAHESY 421,723 348,723 73,000
S ERERT 105,823 3,823 73,000
401 AIEBILSCHY| 73,000 0 73,000
01 A&t 73,000 0 73,000
ORZOISS BEEPLS SHHIZE EX0HY
73,000,002 * 14! 73,000 0 73,000
SADIBIES 7,501,288 3,356,288 4,145,000
= 240,000 240,000 0
= 350,000 0 350,000
Al 6,911,288 3,116,288 3,795,000
B EEESE 4,310,000 690,000 3,620,000
x 250,000 0 250,000
Al 4,060,000 690,000 3,370,000
401 AlEBIL=CHY| 4,310,000 690,000 3,620,000
= 250,000 0 250,000
Al 4,060,000 690,000 3,370,000
01 A&t 4,293,350 685,680 3,607,670
OBIIS 2018 °f i TAHHEZ e
EYTEEESE )
2,000,008 * 250m * 99.28/10 496,400 0 496,400
= 248,200 0 248,200
Al 248,200 0 248,200
OBIIS S22l CAHHEZ(521-28) e
TAH2021E SEDEAI) 500,000,008 * 14! 500,000 0 500,000
OB)Ig S22l SAHHEZ(S21-25) HEBAl
100,000,002 * 144 100,000 0 100,000
OBJIS N2l AasE 5l SAHETZ HLTAS
2 4,000,002 = 100n * 99.28/100 397,120 99,280 297,840
OB)Ig N2l SANEC2(523-05) HETAl 300 000 0 290,000
—20|8 NT2l SAHECE(S23-25) He
=) 600,002 * 200m 120,000 0 20,000
—2JI8 NR2 SAHECER(EE325) He
SNER) 1,000,002 * 200m 200,000 0 200,000
O=E0 SU2l TAHETR(A2-203) HEBA
1,000,002 * 300m * 99.28/100 297,840 0 297,840
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9l TADIBEES EERED
S - B S9(3IH) - ARAY - BES 0 bt plEE HlRE2
ONTSE Aedd 02 CANEER(43-175)
IHEZAL 2 160,000, 0002 160,000 10,000 150,000
OolYS BB TAHUCE(L2-BHS) =7
=y 2,000,000 * 50 100,000 0 100,000
OIS TAHHER(42-165) 2SN
= 2,000,0002 * 100m 200,000 0 200,000
OSFS CAHEEZ(£3-3038) HABAF
1,000, 0002 * 300m 300,000 0 300,000
ONSIHAHDIZ-BESAHA CANEE
SEHZFBAL 2,000,002 * 350m * 99.37/100 695,590 0 695,500
OJIE2S MOIS21 & SANEE2(52-63)
SETA 400,0002! * 250m 100,000 0 100,000
OJtE2s HY ¥ TAHEEE(42-1783) =
= 1,000,000 * 50m 50,000 0 50,000
03 Al&=CHH| 16,650 4,320 12,330
OBJIg 2JI8Y 9 i STAANHT2 Ha
TAHSBEEHDI)
2,000,0002 * 250m * 0.72/100 3,600 0 3,600
= 1,800 0 1,800
Al 1,800 0 1,800
OBIIg M=l Qlatss § TAHSTE HEBAL
217 4,000,002 * 100m * 0.72/100 2,880 720 2,160
O=28 SUel SAIHSTZ(£2-205) HEBA
1,000,0002 * 300m * 0.72/100 2,160 0 2,160
OANSIHAEDIS-BE2AHR CANEER
SEHZFBAL 2,000,002 * 350m * 0.63/100 4,410 0 4,410
SAANERAY S22 2,622,000 2,102,000 520,000
= 100,000 0 100,000
Al 2,522,000 2,102,000 420,000
401 \&HI LS| 2,620,000 2,100,000 520,000
x 100,000 0 100,000
Al 2,520,000 2,100,000 420,000
01 AIZH 2,604, 160 2,084, 160 520,000
OBII§ BIIZSSD-ESNE ATHHIBA
150,000,000 * 14! 150,000 0 150,000
O2I18 ZI|ZSSD-ESAZ ATHHIZAL
(SEXZRT) 200,000,0002! * 144 200,000 0 200,000
ES 100,000 0 100,000
Al 100,000 0 100,000
OIIES =8 T TIHEZA
700,0002 * 100m 70,000 0 70,000
OJIES Hel2 22 A=HHIBA
1,000,0002 * 100m 100,000 0 100,000
ENEENEERET 81,788 76,788 5,000
401 N &HI L2 CHY] 18,000 13,000 5,000
01 AI&t] 18,000 13,000 5,000
OPFS 240 &5 =5 2 +526 A
5,000,008 * 144 5,000 0 5,000




SH: S
BE: CANS(RELXANL/KALETAI
Shol: CIXtele] (Sr9): 1)
S - B - S9(3H) - HRAY - BES il ko plE=L! AimE=T
CIxteI2el 372,901 290,051 82,850
= 100,000 100,000 0
Al 272,901 190,051 82,850
(S)2=2 HAIIX A 282,850 200,000 82,850
= 100,000 100,000 0
Al 182,850 100,000 82,850
401 AlBILSCHY| 282,850 200,000 82,850
= 100,000 100,000 0
Al 182,850 100,000 82,850
01 A&t 282,850 200,000 82,850
OB=2 FAIX SAAY SEHEAIL DA
(22 T4 82,850 0 82,850
—&IIZA 59,229,950 * 14! 59,230 0 59,230
L 23,619,5602 * 14! 23,620 0 23,620
AT 5,132,406 4,676,997 455,409
2 2,135,000 2,135,000 0
= 340,000 340,000 0
Al 2,657,406 2,201,997 455,409
S AITHAY 449,999 410,999 39,000
207 ATHL| 39,000 0 39,000
01 T e 39,000 0 39,000
OZDZ MESUISAY o8 39,000 0 39,000
—SUZ MSOISAIY D127 8
19,500,002 * 14] 19,500 0 19,500
—S$DB MSOISAY 2225 89
19,500,002 * 14] 19,500 0 19,500
(2)SATHA AR (Fakatt]) 274,000 0 274,000
207 ATHL| 38,000 0 38,000
01 T e 38,000 0 38,000
OSAITMSLAY SRS (2 THHA) 38,000 0 38,000
—DISHRANBHESTE DS S
19,000,002 * 14] 19,000 0 9,000
~228 HHX HS= HE 8Y
19,000,002 * 14} 19,000 0 9,000
ETECST 177,000 0 177,000
01 A&t 177,000 0 77,000
OSAITHM AR (L HE]) (2B T4
77,000,002 * 14} 177,000 0 77,000
402 DI2IRH20| 34,000 0 34,000
02 SIIRFEAFEE X (01E M) 34,000 0 34,000
OZATHA =AY T2l BX(28Y HHA)
6,800,0002! * 57t72 34,000 0 34,000
405 RHHFSH| 25,000 0 25,000
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S - B - S9(3H) - HRAY - BES ol&tey plE-L! HimE=E]
01 ML =ZH S 25,000 0 25,000
OZAMM=EAY S 27U (SEX THHA)
25,000,000 » 14 25,000 0 25,000
() FAXGME(ZAl) (SHEOIMEDHS) 549,000 548,999 1
s 385,000 385,000 0
L= 48,000 48,000 0
Al 116,000 115,999 1
401 AIEHIYL S 0HEI 503,174 519,268 A16,004
s 385,000 385,000 0
= 48,000 48,000 0
Al 70,174 86,268 A16,004
01 AlZHI 500,005 515,997 A15,992
OBHE0t MES0ISAHY 23 500,005,000 500,005 515,997 N15,992
s 385,000 385,000 0
L= 48,000 48,000 0
Al 67,005 82,997 A15,992
A& S CHYI 3,169 3,271 A102
Ost& 0t ME0ISAMY 23 3,169,000 3,169 3,271 2102
405 XHHH S| 16,095 0 16,095
01 ML ESEH S 16,095 0 16,095
OetE0t ME0IESAHY 16,095,000& * 14 16,095 0 16,095
(DAL AL (SAAIKE) 2,917,000 2,916,999 1
s 1,750,000 1,750,000 0
= 292,000 292,000 0
Al 875,000 874,999 1
207 AN 406,800 270,000 136,800
s 162,000 162,000 0
L= 27,000 27,000 0
Al 217,800 81,000 136,800
01 ¢21E4d| 406,800 270,000 136,800
OGN SAMME=EAY 2
Z2& 406,800,000& 406,800 270,000 136,800
= 162,000 162,000 0
S 27,000 27,000 0
Al 217,800 81,000 136,800
401 Al&HIZLROHY| 2,430,200 2,566,999 136,799
s 1,540,000 1,540,000 0
= 257,000 257,000 0
Al 633,200 769,999 A136,79
01 AlEHI 2,421,452 2,557,758 A136,306
O M AN FEAIS
Z& 2,421,452,000& 2,421,452 2,557,758 136,306
s 1,540,000 1,540,000 0
== 257,000 257,000 0
Al 624,452 760,758 136,306
03 AIZ2=R0Hd| 8,748 9,241 A493




S2A: ZAID
B CADHZ(ZELXONL/XI AT A)
SR SAITHA (cHel:&J)
S - B S9(3IH) - ARAY - BES 0 bt plEE" HlRE2
‘ O9ANd EAMMFEAS 2& 8,748,000& 8,748 9,241 2493
SATHA S AL (SAAIDEXIE) (RHAI) 942,407 800,000 142,407
401 AIEHIZL 048I 942,407 800,000 142,407
01 AlZHI 942,407 800,000 142,407
OZHA SAIMMSEAIS
Z& 942,407,000& 942,407 800,000 142,407
= 23 HH(MEI=XI/FE) 40,6064 38,100 2,564
FHEZMEAS 40,6064 38,100 2,564
SEA=ASZMNA 40,6064 38,100 2,564
101 @1244| 3,664 1,100 2,564
04 D122 S E= 3,664 1,100 2,564
Okl S& W staa 2te| ey
B 9,160& * 2A12F » 18 = 20 = 102 3,664 1,100 2,564
ZSHEUUN 22l(NY - B RWHUN/HLEE 5,496 0 5,4%
==
SII2EFAHIAE S 2t 5,496 0 5,496
S|=2dFzLA =22 5,496 0 5,496
101 @1244] 5,496 0 5,4%6
04 JRIA2ZNEE 5,496 0 5,4%6
O3JI=2ds2HN M=ZY S 2RY
73,2803 » 5FH » 52 33 5,496 0 5,496
ZNE 2(ZELX SN/ XSLEAl) 70,293 59,740 10,553
SZ12 FH| 70,293 59,740 10,553
ZNE FHl 70,293 59,740 10,553
101 @124 24,623 14,070 10,553
04 JRIH2Z X EE = 24,623 14,070 10,553
O=8 1= Zd| IRy
23 73,2803 * 2% * 14 « 12F 24,623 14,070 10,553




